. s \'( .
2 Lam 1a 2 & iszsugll )]

sz gl 03]l
pH
sl ole Bl a5 388« Hy,0* 1S5 o8 adbadl puwYl o Jolsill agral Tlas
. PH iuzg ngll 08 L Cmy Loy ais

9 Hy0" ssig gl 0sil 45,1 10 polwd) bl pig el iz i)l 06,1
Jolxall

:()| L__s|

[H3O+]3—]' = pH

anubog awSo, gl Osl 1S 59 pouig gl Osil 1S pu izg gl pd I asde
: Jolxall

1| 107 | 102 | 102 | 10 | 10F | 105 | 107 | 102 | 109 | 1070 [ 1077 | 1072 [ 107 | 107 | [H;07]

o |12 (3|4 |5 |6 7|89 (101 |12 13 14| pH

1071 [ 103 | 1072 | 1077 [ 10 [ 10F | 10°F | 107 | 109 | 10 [ 10 | 10 [ 10 | 107 1 [OH]
; s A\ 3
Jalsis
iaanll Jalaall 555 alays g.Lr.LFuI Jdalaall 576 alayy

PH vlais (J] s38 loo [H;0'] 8505 Il 5385 uwanxll Jedxall 898 8504 ol »

. PH 8L | 28 Lo [OHT] 80L; Ml 080 saclall Jgl=all 699 800 0l

o7 lgio 1/5



| . S b4 .
T wirzg gl 08l

rwlbs e
(los>) jo0 =14 -1
(la>) 1=104J-2
o=pH ol . TH;0T=1x 10 o5 I5] -3

(1) Jlaw
il sladl o (PH) inzs el 08,1 caws]

: J=l
illJea [H;0'] = [OH] =1 X 107 9%, (sl sladl (8
[H;0"] ¢J - = pH
("10x 1) gJ-=
(10eJ +14])-=
"0g) -14]-=
107 4+1g1)-=
(1 xX7) + j00 =
(blin) 7 =
((2) Jlgw

(0,3 =2 gJ) Lil/Jso 0,002 as [H;07] el Jslxa) (PH) dasd cannus|

s =

o7 lgio 2/5



. s \'( .
L Lam 1o % % iszsugll )]

,/Jss [H;0'] =2 x 710
[H,0%] 5J - = pH
((10x2)¢]- =
10 o) -2 4] - =
106J3 + 24J-
(1x3) + 03 =
(7 g0 JSIpH 0Y ) miao> Jolzall 2,7 =

((3) Jlsw

Ky =) (0,3=2gJ) ,i/Jgo “10% 5 e [OH] el Jglxa) (PH) doud |
(1 x 10™

1(4) Jlsw
[H;0] cansl + 3 = plas ¥l Jdlxe 35Y (PH) dasd ol caale 13]

- =l
[H;0"] ¢J - = pH
[H,0° 15 =pH-
[H,0*] = 10PH-
/Jse *10 x 1 = *10 =
‘ala> o

o7 lgio 3/5



. s b4 .
tualaia X £ itz sgll o3l

i legll abliall SIxeYl o 7 i pusdl Ol vapuuS PH aoss il 13]

(5) Jlgaw
(0,48 = 34J) . 3,52 axd (PH) doud Jolro 9 posig nuedl Osil juS i s

' J=
[H;0"] 9J - = pH
[H;0"1 s =pH -
[H,0"] 10PH
[H,0*] = *?%10
(048+4-)10 —
10 x 10 =
Lidldes ¥10 X 3 =
1(6) Jlgw

(0,78 = 6 ¢J) . 4,22 iuzg, gl and, Jolno -1
(0,6 =441).7,4 =g pH aowd olus| p ausc -2

(0,2=1,6 9J) . 5,8 = oisrg gl leas, Jis p poas oo aus -3

(7) Jlsw

= leio 4/5



(nalaia 2% iz gl 4,

S Joazdl 8 wlel,all JoST

1 1

*10 x 1 2
2 3

o> lgio 5/5



